

K. P. R. Sastry; G. V. R. Babu

Convergence of Ishikawa iterates for a multi-valued mapping with a fixed point

Czechoslovak Mathematical Journal, Vol. 55 (2005), No. 4, 817–826

Persistent URL: <http://dml.cz/dmlcz/128026>

Terms of use:

© Institute of Mathematics AS CR, 2005

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

CONVERGENCE OF ISHIKAWA ITERATES FOR
A MULTI-VALUED MAPPING WITH A FIXED POINT

K. P. R. SASTRY and G. V. R. BABU, Visakhapatnam

(Received 1998, in revised version May 9, 2005)

Abstract. Existence of fixed points of multivalued mappings that satisfy a certain contractive condition was proved by N. Mizoguchi and W. Takahashi. An alternative proof of this theorem was given by Peter Z. Daffer and H. Kaneko. In the present paper, we give a simple proof of that theorem. Also, we define Mann and Ishikawa iterates for a multivalued map T with a fixed point p and prove that these iterates converge to a fixed point q of T under certain conditions. This fixed point q may be different from p . To illustrate this phenomenon, an example is given.

Keywords: multi-valued map, Mann iterates, Ishikawa iterates, fixed points

MSC 2000: 47H10, 54H25.

1. INTRODUCTION

Let X be a Hilbert space, C a compact, convex subset of X and T a selfmap on C . For $x_0 \in C$, the sequence of Ishikawa iterates of T are defined by (Ishikawa [3]),

$$(1) \quad x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T[(1 - \beta_n)x_n + \beta_n T x_n], \quad n \geq 0$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are real sequences satisfying the conditions

- (i) $0 \leq \alpha_n, \beta_n < 1$ for all n ,
- (ii) $\lim_{n \rightarrow \infty} \beta_n = 0$ and
- (iii) $\sum \alpha_n \beta_n = \infty$.

The Mann iterates of T are defined by $x_0 \in C$,

$$(2) \quad x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T x_n, \quad n \geq 0$$

This work is supported by the U. G. C. Grant No. U4/4997/97-98. G. V. R. Babu thanks the University Grants Commission, India for the financial support.

where $\{\alpha_n\}$ is a real sequence satisfying $\alpha_0 = 1$, $0 \leq \alpha_n < 1$ for all $n \geq 1$ and $\sum \alpha_n = \infty$.

For more details and literature on the convergence of Ishikawa and Mann iterates, we refer to Franks and Marzek [2], Ishikawa [3], Kalinde and Rhoades [4], Liu Qihou [8], [9], Mann [6] and Rhoades [10].

The main purpose of this paper is to extend the convergence results from single valued maps to multi-valued maps by defining Ishikawa and Mann iterates for multi-valued maps with a fixed point.

Existence of fixed points for multi-valued maps that satisfy a certain contractive condition was proved by N. Mizoguchi and W. Takahashi ([7], Theorem 5). An alternative proof of this theorem was given by Daffer and Kaneko ([1], Theorem 2.1). In Section 2, we give a simplified version of the proof of that theorem. In Section 2, we also present necessary lemmas to prove our main theorems in Section 3.

2. PRELIMINARIES

Let (X, d) be a complete metric space. A subset K of X is called *proximal* if for each $x \in X$, there exists an element $k \in K$ such that

$$d(x, k) = d(x, K) = \inf\{d(x, y) : y \in K\}.$$

If X is a Hilbert space, clearly, every closed convex subset of X is proximal.

We denote the family of all bounded proximal subsets of a set K in X by $P(K)$ and the family of all nonempty bounded closed subsets of X by $CB(X)$.

Let A, B be two bounded subsets of X . The Hausdorff distance between A and B is defined by

$$H(A, B) = \max\left\{\sup_{x \in A} d(x, B), \sup_{y \in B} d(A, y)\right\}.$$

Theorem 1 was proved by Mizoguchi and Takahashi ([7], Theorem 5) and an alternative proof of this theorem was given by Peter Z. Daffer and Hideaki Kaneko ([1], Theorem 2.1). The proof given here is comparatively simpler than the other two proofs.

Theorem 1 (Theorem 2.1 of [1]). *Let (X, d) be a complete metric space and $T: X \rightarrow CB(X)$. If α is a function from $(0, \infty)$ to $[0, 1)$ such that $\limsup_{r \rightarrow t^+} \alpha(r) < 1$ for every $t \in [0, \infty)$ and if*

$$H(Tx, Ty) \leq \alpha(d(x, y))d(x, y)$$

for each $x, y \in X$, then T has a fixed point in X .

P r o o f. Let $x_0 \in X$ and $x_1 \in Tx_0$. Choose a positive integer n_1 such that

$$\alpha^{n_1}(d(x_0, x_1)) < \{1 - \alpha(d(x_0, x_1))\}d(x_0, x_1).$$

We now select $x_2 \in Tx_1$ such that

$$\begin{aligned} d(x_2, x_1) &\leq H(Tx_1, Tx_0) + \alpha^{n_1}(d(x_0, x_1)) \\ &\leq \alpha(d(x_0, x_1))d(x_0, x_1) + \alpha^{n_1}(d(x_0, x_1)) \\ &< d(x_1, x_0). \end{aligned}$$

Now we choose a positive integer $n_2 > n_1$ so that

$$\alpha^{n_2}(d(x_2, x_1)) < \{1 - \alpha(d(x_2, x_1))\}d(x_2, x_1).$$

Now select $x_3 \in Tx_2$ such that

$$\begin{aligned} d(x_3, x_2) &\leq H(Tx_2, Tx_1) + \alpha^{n_2}(d(x_2, x_1)) \\ &\leq \alpha(d(x_2, x_1))d(x_2, x_1) + \alpha^{n_2}(d(x_2, x_1)) \\ &< d(x_2, x_1). \end{aligned}$$

In general, we can select a positive integer n_k such that

$$\alpha^{n_k}(d(x_k, x_{k-1})) < \{1 - \alpha(d(x_k, x_{k-1}))\}d(x_k, x_{k-1}).$$

We now choose $x_{k+1} \in Tx_k$ so that

$$\begin{aligned} (3) \quad d(x_{k+1}, x_k) &\leq H(Tx_k, Tx_{k-1}) + \alpha^{n_k}(d(x_k, x_{k-1})) \\ &\leq \alpha(d(x_k, x_{k-1}))d(x_k, x_{k-1}) + \alpha^{n_k}(d(x_k, x_{k-1})) \\ &< d(x_k, x_{k-1}). \end{aligned}$$

Write $t_k = d(x_{k+1}, x_k)$. Then $\{t_k\}$ is a monotonically decreasing sequence of non-negative numbers.

Suppose $\lim_{k \rightarrow \infty} t_k = \delta > 0$. From (3) we have

$$t_k \leq \alpha^{n_k}(t_{k-1}) + \alpha(t_{k-1})t_{k-1}.$$

Taking limits as $k \rightarrow \infty$ on both sides we have

$$\delta \leq \limsup_{k \rightarrow \infty} \alpha(t_{k-1})\delta < \delta,$$

a contradiction, and hence $\lim_{k \rightarrow \infty} t_k = 0$.

Let $a = \limsup_{r \rightarrow 0^+} \alpha(r) < 1$. Let b be such that $a < b < 1$. Then for sufficiently large k , $\alpha(t_k) < b$. From (3), we have for sufficiently large k , $t_k < bt_{k-1} + b^{n_k}$. Consequently

$$t_k < b^k t_0 + (b^{k-1} b^{n_1} + b^{k-2} b^{n_2} + \dots + b b^{n_{k-1}}) + b^{n_k}.$$

Write

$$c_{k-1} = b^{k-1} b^{n_1} + b^{k-2} b^{n_2} + \dots + b b^{n_{k-1}}.$$

Since c_{k-1} is the $(k-1)$ th term in the Cauchy product of the absolutely convergent series $\sum b^k$ and $\sum b^{n_k}$, it follows that $\sum c_k$ is convergent absolutely and hence $\sum t_k$ is convergent so that $\{x_n\}$ forms a Cauchy sequence in X . Since X is complete, $\{x_n\}$ converges to q (say) in X . Then

$$\begin{aligned} d(q, Tq) &\leq d(q, x_k) + d(x_k, Tq) \\ &\leq d(q, x_k) + H(Tx_{k-1}, Tq) \\ &\leq d(q, x_k) + \alpha(d(x_{k-1}, q))d(x_{k-1}, q) \rightarrow 0 \text{ as } k \rightarrow \infty. \end{aligned}$$

Hence $q \in Tq$.

The following lemma can be easily established.

Lemma 2. Let $\{\alpha_n\}, \{\beta_n\}$ be two real sequences such that

- (i) $0 \leq \alpha_n, \beta_n < 1$,
 - (ii) $\beta_n \rightarrow 0$ as $n \rightarrow \infty$ and
 - (iii) $\sum \alpha_n \beta_n = \infty$.
- Let $\{\gamma_n\}$ be a non-negative real sequence such that $\sum \alpha_n \beta_n (1 - \beta_n) \gamma_n$ is bounded. Then γ_n has a subsequence which converges to zero.

Lemma 3 (Liu Qihou, [9]). Let $\{x_n\}$ be a sequence of reals that satisfy $x_{n+1} \leq \alpha x_n + \beta_n$ where $x_n \geq 0, \beta_n \geq 0$ and $\lim_{n \rightarrow \infty} \beta_n = 0, 0 \leq \alpha < 1$. Then $\lim_{n \rightarrow \infty} x_n = 0$.

Notation. In the rest of the paper, X is real Hilbert space.

Let $T: X \rightarrow P(X)$ and let p be a fixed point of T . We define

(A) the sequence of Mann iterates by $x_0 \in X$,

$$x_{n+1} = \alpha_n x_n + (1 - \alpha_n) y_n, \quad n \geq 0$$

where $y_n \in Tx_n$ is such that $\|y_n - p\| = d(p, Tx_n)$ and $\{\alpha_n\}$ is a real sequence such that $0 \leq \alpha_n < 1$ and $\sum \alpha_n = \infty$.

(B) the sequence of Ishikawa iterates by $x_0 \in X$, $y_n = (1 - \beta_n)x_n + \beta_n z_n$ where $z_n \in Tx_n$ is such that $\|z_n - p\| = d(p, Tx_n)$ and $x_{n+1} = (1 - \alpha_n)x_n + \alpha_n z'_n$ where $z'_n \in Ty_n$ is such that $\|z'_n - p\| = d(p, Ty_n)$, $n \geq 0$ where $\{\alpha_n\}, \{\beta_n\}$ are real sequences satisfying

- (i) $0 \leq \alpha_n, \beta_n < 1$,
- (ii) $\beta_n \rightarrow 0$ and
- (iii) $\sum \alpha_n \beta_n = \infty$.

Definitions. We say that the mapping $T: X \rightarrow P(X)$ is

- (I) *nonexpansive* if $H(Tx, Ty) \leq \|x - y\|$ for all $x, y \in X$.
- (II) *quasi-nonexpansive* if it has at least one fixed point p (say) and satisfies

$$d(Tx, p) \leq \|x - p\|$$

for all $x \in X$.

- (III) *generalized nonexpansive* if

$$H(Tx, Ty) \leq a\|x - y\| + b\{d(x, Tx) + d(y, Ty)\} + c\{d(x, Ty) + d(y, Tx)\}$$

for all $x, y \in X$, where $a + 2b + 2c \leq 1$.

- (IV) *quasi-contractive* if for some constant k , $0 \leq k < 1$,

$$H(Tx, Ty) \leq \max\{\|x - y\|, d(x, Tx), d(y, Ty), d(x, Ty), d(y, Tx)\}$$

for all $x, y \in X$.

Lemma 4 (Ishikawa [3]). Let $\mu \in [0, 1]$. Then for any $x, y \in X$,

$$\|(1 - \mu)x + \mu y\|^2 = (1 - \mu)\|x\|^2 + \mu\|y\|^2 - \mu(1 - \mu)\|x - y\|^2.$$

3. MAIN RESULTS

Theorem 5. Let K be a compact convex subset of a Hilbert space X . Suppose that a nonexpansive map $T: K \rightarrow P(K)$ has a fixed point p . Assume that

- (i) $0 \leq \alpha_n, \beta_n < 1$,
- (ii) $\beta_n \rightarrow 0$ and
- (iii) $\sum \alpha_n \beta_n = \infty$. Then the sequence of Ishikawa iterates defined by (B) converges to a fixed point q of T .

Proof. By using Lemma 4, we have

$$\begin{aligned}
 (4) \quad \|x_{n+1} - p\|^2 &= \|(1 - \alpha_n)x_n + \alpha_n z'_n - p\|^2 \\
 &= (1 - \alpha_n)\|x_n - p\|^2 + \alpha_n\|z'_n - p\|^2 - \alpha_n(1 - \alpha_n)\|x_n - z'_n\|^2 \\
 &\leq (1 - \alpha_n)\|x_n - p\|^2 + \alpha_n H^2(Ty_n, Tp) - \alpha_n(1 - \alpha_n)\|x_n - z'_n\|^2 \\
 &\leq (1 - \alpha_n)\|x_n - p\|^2 + \alpha_n\|y_n - p\|^2 - \alpha_n(1 - \alpha_n)\|x_n - z'_n\|^2,
 \end{aligned}$$

$$\begin{aligned}
 (5) \quad \|y_n - p\|^2 &= \|(1 - \beta_n)x_n + \beta_n z_n - p\|^2 \\
 &\leq (1 - \beta_n)\|x_n - p\|^2 + \beta_n\|z_n - p\|^2 - \beta_n(1 - \beta_n)\|x_n - z_n\|^2 \\
 &\leq (1 - \beta_n)\|x_n - p\|^2 + \beta_n H^2(Tx_n, Tp) - \beta_n(1 - \beta_n)\|x_n - z_n\|^2 \\
 &\leq (1 - \beta_n)\|x_n - p\|^2 + \beta_n\|x_n - p\|^2 - \beta_n(1 - \beta_n)\|x_n - z_n\|^2 \\
 &= \|x_n - p\|^2 - \beta_n(1 - \beta_n)\|x_n - z_n\|^2.
 \end{aligned}$$

From (4) and (5),

$$\begin{aligned}
 \|x_{n+1} - p\|^2 &\leq (1 - \alpha_n)\|x_n - p\|^2 + \alpha_n\|x_n - p\|^2 - \alpha_n\beta_n(1 - \beta_n)\|x_n - z_n\|^2 \\
 &\quad - \alpha_n(1 - \alpha_n)\|x_n - z'_n\|^2.
 \end{aligned}$$

Therefore

$$\alpha_n\beta_n(1 - \beta_n)\|x_n - z_n\|^2 + \alpha_n(1 - \alpha_n)\|x_n - z'_n\|^2 \leq \|x_n - p\|^2 - \|x_{n+1} - p\|^2.$$

This implies

$$\sum_{n=1}^{\infty} \alpha_n\beta_n(1 - \beta_n)\|x_n - z_n\|^2 \leq \|x_1 - p\|^2 < \infty.$$

Hence by Lemma 2, there exists a subsequence $\{x_{n_l} - z_{n_l}\}$ of $\{x_n - z_n\}$ such that $\|x_{n_l} - z_{n_l}\| \rightarrow 0$ as $l \rightarrow \infty$. Since $z_{n_l} \in Tx_{n_l}$, $d(Tx_{n_l}, x_{n_l}) \leq \|x_{n_l} - z_{n_l}\| \rightarrow 0$ as $l \rightarrow \infty$ and $\{x_{n_l}\} \subset K$, K being compact, without loss of generality, we may assume that $x_{n_l} \rightarrow q$ as $l \rightarrow \infty$. Now $d(Tx_{n_l}, q) \leq d(Tx_{n_l}, x_{n_l}) + \|x_{n_l} - q\| \rightarrow 0$ as $l \rightarrow \infty$. Also $H(d(Tx_{n_l}, Tq)) \rightarrow 0$ as $l \rightarrow \infty$. Hence

$$d(q, Tq) \leq d(q, Tx_{n_l}) + H(Tx_{n_l}, Tq) \rightarrow 0 \text{ as } l \rightarrow \infty.$$

This shows that $q \in Tq$. Hence the theorem follows. □

Theorem 6. Let K be a compact convex subset of a Hilbert space X . Suppose $T: K \rightarrow P(K)$ is nonexpansive and has a fixed point p . Assume that

- (i) $0 \leq \alpha_n < 1$ and
- (ii) $\sum \alpha_n = \infty$.

Then the sequence of Mann iterates defined by (A) converges to a fixed point q of T .

Proof is similar to that of Theorem 5. □

Theorem 7. Let K be a compact convex subset of a Hilbert space X . Suppose $T: K \rightarrow P(K)$ is a generalized nonexpansive map with a fixed point p . Assume that

- (i) $0 \leq \alpha_n, \beta_n < 1$ for all n ,
- (ii) $\beta_n \rightarrow 0$ and
- (iii) $\sum \alpha_n \beta_n = \infty$.

Then the sequence of Ishikawa iterates defined by (B) converges to a fixed point q of T .

P r o o f. We have

$$(6) \quad \|x_{n+1} - p\|^2 = (1 - \alpha_n)\|x_n - p\|^2 + \alpha_n H(Tp, Ty_n) - \alpha_n(1 - \alpha_n)\|x_n - z'_n\|^2.$$

By the generalized nonexpansive property of T , we have

$$\begin{aligned} H(Tp, Ty_n) &\leq a\|y_n - p\| + bd(y_n, Ty_n) + c\{d(p, Ty_n) + d(y_n, Tp)\} \\ &\leq a\|y_n - p\| + b\{\|y_n - p\| + d(p, Ty_n)\} + c\{d(p, Ty_n) + d(y_n, Tp)\} \\ &\leq (a + b + c)\|y_n - p\| + (b + c)d(p, Ty_n) \\ &\leq (a + b + c)\|y_n - p\| + (b + c)H(Tp, Ty_n). \end{aligned}$$

Hence

$$H(Ty_n, Tp) \leq \left(\frac{a + b + c}{1 - (b + c)} \right) \|y_n - p\|.$$

Since $(a + b + c)/(1 - (b + c)) \leq 1$, it follows that

$$(7) \quad H(Ty_n, Tp) \leq \|y_n - p\|.$$

From (6) and (7), we have

$$\|x_{n+1} - p\|^2 \leq (1 - \alpha_n)\|x_n - p\|^2 + \alpha_n\|y_n - p\|^2 - \alpha_n(1 - \alpha_n)\|x_n - z'_n\|^2$$

which is the inequality (4).

Similarly, it is trivial to show that the inequality (5) holds,

$$\|y_n - p\|^2 \leq \|x_n - p\|^2 - \beta_n(1 - \beta_n)\|x_n - z_n\|^2.$$

Now proceeding as in the proof of Theorem 5, the theorem follows. □

Theorem 8. Let K be a compact convex subset of a Hilbert space X . Suppose $T: K \rightarrow P(K)$ is a generalized nonexpansive map with a fixed point p . Assume that

(i) $0 \leq \alpha_n < 1$ for all n and

(ii) $\sum \alpha_n = \infty$.

Then the sequence of Mann iterates defined by (A) converges to a fixed point q of T .

Proof is similar to that of Theorem 7 and hence omitted. □

In the following theorem, we show that the sequence of Ishikawa iterates for a quasi-contractive map T with a fixed point p on a closed convex bounded subset of a Hilbert space converges to the same fixed point p , thus removing the compactness restriction on K but imposing quasi-contractive condition on T . The technique adopted in the proof is that of Liu Qihou [9].

Theorem 9. Let K be a closed convex bounded subset of a Hilbert space X . Suppose $T: K \rightarrow P(K)$ is a quasi-contractive and has a fixed point p . Let $\{\alpha_n\}$ and $\{\beta_n\}$ be real sequences such that $0 \leq \alpha_n, \beta_n < 1$ for all n and $\beta_n \rightarrow 0$ as $n \rightarrow \infty$ with $\delta \leq \alpha_n \leq 1 - k^2$ for some $\delta > 0$. Then the sequence of Ishikawa iterates defined by (B) converges to p .

Proof. We have

$$\begin{aligned} (8) \quad \|x_{n+1} - p\|^2 &= \|(1 - \alpha_n)x_n + \alpha_n z'_n - p\|^2 \\ &= (1 - \alpha_n)\|x_n - p\|^2 + \alpha_n\|z'_n - p\|^2 - \alpha_n(1 - \alpha_n)\|x_n - z'_n\|^2, \\ \|z'_n - p\| &= d(p, Ty_n) \leq \max_{z \in Tp} d(z, Ty_n) \leq H(Tp, Ty_n). \end{aligned}$$

Therefore

$$(9) \quad \|z'_n - p\|^2 \leq H^2(Tp, Ty_n) \leq k^2 \max\{\|y_n - p\|^2, d^2(y_n, Ty_n), d^2(p, Ty_n)\} \\ \text{(since } d^2(y_n, Tp) \leq \|y_n - p\|^2\text{)}.$$

If $d(p, Ty_n)$ is the maximum, then

$$H^2(Tp, Ty_n) \leq k^2 d^2(p, Ty_n) \leq k^2 \max_{z \in Tp} d^2(z, Ty_n) \leq k^2 H^2(Tp, Ty_n)$$

so that $0 \leq \|z'_n - p\|^2 \leq H^2(Tp, Ty_n) = 0$. Hence, from (9) we get, always,

$$(10) \quad \|z'_n - p\|^2 \leq H^2(Tp, Ty_n) \leq k^2 \max\{\|y_n - p\|^2, d^2(y_n, Ty_n)\} \\ \leq k^2[\|y_n - p\|^2 + d^2(y_n, Ty_n)].$$

Now consider

$$(11) \quad \|y_n - p\|^2 = \|(1 - \beta_n)x_n + \beta_n z_n - p\|^2 \\ = (1 - \beta_n)\|x_n - p\|^2 + \beta_n\|z_n - p\|^2 - \beta_n(1 - \beta_n)\|x_n - z_n\|^2,$$

$$(12) \quad d^2(y_n, Ty_n) \leq \|y_n - z'_n\|^2 = \|(1 - \beta_n)x_n + \beta_n z_n - z'_n\|^2 \\ = (1 - \beta_n)\|x_n - z'_n\|^2 + \beta_n\|z_n - z'_n\|^2 - \beta_n(1 - \beta_n)\|x_n - z_n\|^2.$$

Substituting (11) and (12) into (10), we get

$$(13) \quad \|z'_n - p\|^2 \leq k^2[(1 - \beta_n)\|x_n - p\|^2 + \beta_n\|z_n - p\|^2 + (1 - \beta_n)\|x_n - z'_n\|^2 \\ + \beta_n\|z_n - z'_n\|^2 - 2\beta_n(1 - \beta_n)\|x_n - z_n\|^2].$$

Similar to the inequality (10), we get that

$$(14) \quad \|z_n - p\|^2 = d^2(p, Tx_n) \leq H^2(Tp, Tx_n) \\ \leq k^2[\|x_n - p\|^2 + d^2(x_n, Tx_n)].$$

From (13) and (14) we have

$$(15) \quad \|z'_n - p\|^2 \leq k^2[(1 - \beta_n)\|x_n - p\|^2 + k^4\beta_n\|x_n - p\|^2 + k^4\beta_n d^2(x_n, Tx_n) \\ - 2k^2\beta_n(1 - \beta_n)\|z_n - x_n\|^2 + k^2(1 - \beta_n)\|x_n - z'_n\|^2 \\ + k^2\beta_n\|z_n - z'_n\|^2 \\ \leq k^2(1 - \beta_n + k^2\beta_n)\|z_n - p\|^2 - k^2\beta_n(2 - 2\beta_n - k^2)d^2(x_n, Tx_n) \\ + k^2(1 - \beta_n)\|x_n - z'_n\|^2 + k^2\beta_n\|z_n - z'_n\|^2 \\ \text{(since } \|z_n - x_n\|^2 \geq d(x_n, Tx_n)) \\ \leq k^2\|x_n - p\|^2 - k^2\beta_n(2 - 2\beta_n - k^2)d^2(x_n, Tx_n) \\ + k^2(1 - \beta_n)\|x_n - z'_n\|^2 + k^2\beta_n\|z_n - z'_n\|^2.$$

Substituting (15) in (8), we obtain

$$(16) \quad \|x_{n+1} - p\|^2 \leq [1 - \alpha_n(1 - k^2)]\|x_n - p\|^2 \\ - k^2\alpha_n\beta_n(2 - 2\beta_n - k^2)d^2(x_n, Tx_n) + k^2\alpha_n\beta_n\|z_n - z'_n\|^2 \\ - \alpha_n(1 - \alpha_n - k^2 + k^2\beta_n)\|x_n - z'_n\|^2.$$

As $\delta \leq \alpha_n \leq 1 - k^2$, we have $1 - \alpha_n(1 - k^2) \leq 1 - \delta(1 - k^2) = \alpha$ (say) and $0 < \alpha < 1$. As $\beta_n \rightarrow 0$ as $n \rightarrow \infty$, there exists a positive integer N_1 such that $\beta_n \leq (2 - k^2)/2 \forall n \geq N_1$ so that $2 - 2\beta_n - k^2 \geq 0 \forall n \geq N_1$. Also we have

$$1 - \alpha_n - k^2 + k^2\beta_n \geq (1 - k^2) - (1 - k^2) + k^2\beta_n \geq 0 \quad \forall n.$$

Consequently from (16), we get that, for sufficiently large n ,

$$\begin{aligned}\|x_{n+1} - p\|^2 &\leq \alpha\|x_n - p\|^2 + (1 - k^2)k^2\beta_n\|z_n - z'_n\|^2 \\ &\leq \alpha\|x_n - p\|^2 + (1 - k^2)k^2\beta_n D\end{aligned}$$

where D is the diameter of K . Now, by using Lemma 3, the sequence $\{x_n\}$ converges to p as $n \rightarrow \infty$. Hence the theorem follows. \square

We conclude the paper with an example which shows that the limit of the sequence of Ishikawa iterates depends on the choice of the fixed point p and the initial choice of x_0 .

Example. Let $X = [0, 1]$. Define $T: X \rightarrow P(X)$ by $Tx = [0, x]$. Here every point of X is a fixed point of T . Let $p, x_0 \in [0, 1]$. Then

- (i) if $p < x_0$, the sequence of Ishikawa iterates converges to p and
- (ii) if $x_0 \leq p$, the sequence of Ishikawa iterates converges to the initial point x_0 .

Acknowledgements. The authors thank the referee for his valuable suggestions which improved the presentation of the paper, particularly Theorem 9.

References

- [1] *P. Z. Daffer and H. Kaneko*: Fixed points of generalized contractive multi-valued mappings. *J. Math. Anal. Appl.* *192* (1995), 655–666.
- [2] *R. L. Franks and R. P. Marzec*: A theorem on mean value iterations. *Proc. Amer. Math. Soc.* *30* (1971), 324–326.
- [3] *S. Ishikawa*: Fixed points by a new iteration method. *Proc. Amer. Math. Soc.* *44* (1974), 147–150.
- [4] *A. K. Kalinde and B. E. Rhoades*: Fixed point Ishikawa iterations. *J. Math. Anal. Appl.* *170* (1992), 600–606.
- [5] *H. Kaneko*: Generalized contractive multi-valued mappings and their fixed points. *Math. Japon.* *33* (1988), 57–64.
- [6] *W. R. Mann*: Mean value methods in iterations. *Proc. Amer. Math. Soc.* *4* (1953), 506–510.
- [7] *N. Mizoguchi and W. Takahashi*: Fixed point theorems for multi-valued mappings on complete metric spaces. *J. Math. Anal. Appl.* *141* (1989), 177–188.
- [8] *Liu Qihou*: On Naimpally and Singh's open questions. *J. Math. Anal. Appl.* *124* (1987), 157–164.
- [9] *Liu Qihou*: A convergence theorem of the sequence of Ishikawa iterates for quasi-contractive mappings. *J. Math. Anal. Appl.* *146* (1990), 301–305.
- [10] *B. E. Rhoades*: Comments on two fixed point iteration methods. *J. Math. Anal. Appl.* *56* (1976), 741–750.

Authors' address: Department of Mathematics, Andhra University, Visakhapatnam, 530 003, India, e-mail: gvr_babu@hotmail.com.